PARMELA® FI FHIKTF 4%

PR XEM OER—

koichi81@sanken.osaka-u.ac.jp

EEEEFHEIAL— a3 VES
~ROFI—P~




1.1 PARMELADODAANZ 74l

| run 1 2 2856. -startpos beamenerqy
| title
| Benergy(beamenergy)-Blength(bunchmm)mm

BN A—42—8
estartpos : /\JL R1ig/2 (cm)
sbeamenergy : 0.5, 1, 3, 6 (MeV)

I
| drift 0.05.1

: sbunchmm : 3, 200 (mm)
: :jnr[i)flit59 Zp(;uim 10 0.05 100000 bunch 0.0 epnum : T2

I
I
I
I
I
I
| drift5.201 } #2L)R L : sbunch : 5.1416, 342.83 (/degree)
| | *drsc1-4 : mesh factor=20(#%& k) &9 %
| OUTPUT 5 | *dzscl-4 : mesh factor=20(#&k) &9 5
| zout | estepnum : EERFRIZKE CTEIE
I
I
I
I
I
I
I
I
I
I

I

| scheff 2.856 drscl dzsc1 7010010300

| start 0 10 stepnum 10 1T _
*PARMELA version : 3.24

| scheff 2.856 drsc2 dzsc27010010300

| continue 10 stepnum 1 0 SIS BB — FOIEE LR

| scheff 2.856 drsc3 dzsc37010010300 E—LH A XAR=(XHFHDHE) X2 #H
NILAME=ZARDHDE) x2%x3N0.5 ZFIHE

| continue 10 stepnum 1 0
scheff 2.856 drsc4 dzsc4 7010010300 R

| ‘AE: TRILF—HE 1o ZHE

IZIWAVR: v Re EWRE

| continue 10 100000010
| end
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23 JNVLAME3IMM I RJ)LEFE—3MeV
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24 NJLRBE3IMM I RILXE—6MeV
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Brittarce [Pl mmynrad
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3.4 /NJ)LARIE200mm I RJILF—6MeV
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